

$$L(n) = \frac{n^2 - 1}{n+1} = (n-1) + \frac{n}{n+1} \quad \text{1-}$$

اگر نام ثابت باشد n, m باید 0 باشد $L(n) = 1 \cdot n^2 - (n+1) + mn + n + mn$

$\rightarrow m = -1, n = 1 \rightarrow y(m) = \{(1, -1), (1, p+1), (p+1, -1), (-1, p+1)\}$

$y \rightarrow 1 \rightarrow -1 = p+1 \rightarrow p = -1 \quad p+k = -1 \quad k = 0$

$1 - 1 - 1 + 1 = 0 \quad (\checkmark)$

الف) $\sqrt{\frac{n-1}{n^2-1}} \rightarrow \frac{n-1}{n^2-1} \geq 0$

$n^2-1 = (n-1)(n+1)$
 $\begin{cases} n=1 \rightarrow n^2=1 \rightarrow n=1 \\ n=-1 \rightarrow n^2=1 \rightarrow n=-1 \end{cases}$
 $\frac{-1}{-1} + \frac{1}{1} = 2 \quad P_f = (-1, 2)$

$\frac{n^2+1}{n^2-1} \rightarrow n^2-1 \neq 0 \rightarrow 1 \neq [n] \rightarrow P_f = \mathbb{R} - \{0, -1\}$

ب) $f(m) = \frac{\sqrt{n(n^2-1)}}{\sqrt{|m|+n}} \rightarrow n(n^2-1) \geq 0 \rightarrow \frac{-1}{1} \leq \frac{0}{1} \leq \frac{1}{1}$
 $[-1, 0] \cup [1, +\infty)$
 $\mathbb{R}^+ \text{ فقط } \textcircled{1} \quad \textcircled{1} \cap \textcircled{2} = P_f = [1, +\infty)$

ج) $|n-1| \neq k \rightarrow n-1$
 $|n-1| = 0 \rightarrow n=1$
 $|n-1| = 1 \rightarrow n=0 \text{ یا } n=2$
 $k=1$

$$f-g = \{(1, k)\} \rightarrow f-g = \{1\} \quad Df = \left[\frac{1}{r}a, +\infty\right) \quad Dg = \left(-\infty, \frac{b}{r}\right] \quad -1$$

$$1 = \frac{b}{r} = \frac{r}{r}a \rightarrow \frac{b}{r} = \frac{r}{r}a \rightarrow f-g = \sqrt{r-m} - rk + \sqrt{r-m} - \frac{r}{r} + [k-r] \approx 1$$

$$rk - r - rk = k \rightarrow \underline{k = -1} \quad ra - \frac{b}{r} - k = r - r + 1 = \textcircled{1}$$

$$f \times g = (\sqrt{r+m}) (\sqrt{m-n} + n) \rightarrow r+m \geq 1, n \geq 1 \quad -9$$

$m \geq n \quad Df = [1, m] \quad m = V$

$$f(r) - g(r) = \sqrt{r} = \sqrt{r} + n - \sqrt{1} = r + n - r\sqrt{r} = \sqrt{r} \quad n = \sqrt{r} - r$$

$$m + n = \sqrt{r} - r + V = a + \sqrt{r}$$

$$y = (-1)^r (m - [m]) = \frac{1}{r} \rightarrow (m - [m]) = \frac{1}{r} \quad 10$$

